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® A drives 45 kms towaras East , turns right and drives 65
kms , then turns left and drives 33 kms . In which
direction 1s he facing now?

* AT shl AN 45 TorHl STga hLqT €, 10 AT @ 3T 65 Tohet

SHECERG % fo5T aITU T %ﬁ?%%ﬁsmq AT = 3T
34T 79 fohd e o 89

A.East/qd

B.West /UTRIc

C.North/3dY
D.South /& T&IoT




* A man walks 15 metre south . Then turning to his right he walks 15
metres . Then turning to his left , he walks 10 metres . Again turns to
his left and walks 15 metres . How far 1s he from his initial position ?

* Teh FATGHT 15 HieT SfaT0T shl ST <A g1 ThT 370 ST ST IS a8 15
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D.None of these
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* Shobha was facing east. She walks 20 metres. After
taking a left turn she walks 15 metres, then after
taking a right turn she walks 25 metres. Finally she
turns to her right and walks 15 meters more. How
far is he from his starting point?
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* [ am standing facing east. I turn 100° clockwise and then
145° 1n anti-clockwise. In which direction am I facing now?

* T qoi 31 AT HE hieh TSI 8 H 100° S&AUed ST
145° STHTEd SHTAT | 379 30 q@ forg fomm o 22

A. East/gd

B. North-east/3d- EEff

C. North/3<dY
D. South—west/m-m




One morning after sunrise , Gopal was facing a pole . The
shadow of the pole fell exactly to his right . Which direction
was he facing ?

* Teh T: AT h SIS AT hT 7 Teh P shi ST AT TR o6l

BT 3k IJ6eh TR ST US| IHRT AW Tohd fa=mm 7 912

A. South
B. East
C. West

D. Data inadequate




an and Krishnan start moving towards each other from points A and B, 200
@rs away from each other. After walking 60 metres, Krishnan turns left and walks
20 metres, then he turns right and walks 40 metres. He again takes a right turn and
comes back to the path from where he started. Raman did not turn anywhere while

walking. If Raman and Krishnan walk at the same speed, then what is the distance
between them now?(UPSI 2017-18)

* T 1T FHWH , Th AL H 200 W, foig A 3T B H Th GAL hT 0% SIG1 T& L € | 60 HI
S REE R IE , T dl\HSdI%C%ﬁT20]ﬂZT€IF|?IT% ﬁo‘{olsqlwsm%’sﬁTmﬁa%laﬁT%Ia%’
No{@fcug el %ﬁ?sa T 9T ST9H 37T ST %vltﬂ Y 3T IT IR AT T | I a?dl’\l'-l e
et off 7T ST | Al THA S HWTH Teh & 7T & =eid &, dF 379 37 S 1 gt

A.40
B. 30
C. 20
D.50




' Shivam 1s facing south , then he turns 135 ° clockwise , then 90 °
ant1 - clockwise , then 180 ° clockwise , then 135 © 1n anti1 -

clockwise and finally again 1t rotates 45 © 1n ant1 - clockwise
direction , then in which direction is Shivam facing now ?(SSC

CHSL2021)

f?ﬂaﬂE(F&WToh|3mdrH{9|% TR a8 135 © feurmed, TR 90 © e,
180 © Erf&wuom RET 135 © STHTE] 31T 37 & TRt & 45 © ammad
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* Amit started walking positioning his back towards the sun. After
some time, he turned left, then turned right and towards the left
again. In which direction 1s he going now?

* STHA o T shl N IS Fileh T & (AT e X e I8 o1 e,
RL ST ST SR T STl 371 2Tl o8 31 fohd fé’ifrrﬁTﬂTT%T%?’

A. North or South
B. East or West

C. North or West
D. South or West




* Village Q 1s to the North of the village P. The village R 1s 1n the
East of Village Q. The village S 1s to the left of the village P. In
which direction 1s the village S with respect to village R?

* MG Q, M P % STH ¢l M R, M Q & [ H 2| M S, M P
TS ST 2| T R 3w & it s fre R & 27

A. Wesk,
B. South-West
C. South

D. North-west




* Starting from the point X, Jayant walked 15 m towards west. He turned left and
walked 20 m. He then turned left and walked 15 m. After this he turned to his
right and walked 12 m. How far and in which directions 1s now Jayant from X?

» feig X W Y& Bt STd Ufeim st 31T 15 Hiet =IefdT 2] 9 &1 79T 371 20 HY <e

%L 978 oIT3 0ST 3T 15 Hl =[cAT| e S11Q o8 391 T ST HST 3R 12 Hiet =refi)

SRIA 379 X W ferat g SR foper e 6 22

A. 3* éouth

B. 47 m East
C. 42 m North
D. 27 m South



® Ganesha cycles in the direction of the sun in the evening. After a
while, he turns left and then turns right. After a while, he again turns
right. In which direction 1s he standing now?

® T o T8 0T ST g ﬁ:’&frrﬁwsmhcd AT 8| D L MG I8 ®||g
Hedr & 3T f g Hsm 2| %S A ATE I8 SEERIOR HgdT 81 98 37« fohd
ERCEAR Y,

A. South
est

C. North

D. East




® Jagan starts from his house and walks 9 km towards South-East and then
he turns 90° to his left and walks 12 km. After walking one reaches the
temple. What will be the shortest distance from this temple to his house?

® ST ST B H ST & ST © ST SFEA0T-qel 3t 3T 9 fopdl =fetar 81 3R
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